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SN EXE A

HH: JYUS R (MY - B2 /MATE - DE35H)
©el: JIYUE X2 (el @ e)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
OSXSXAS 310 24 +g(ATH 4
2) 23 210,0002 210 1,680 A 1,470
OSX 2 JIYRK HEAE ¥ NHEB (=28
A2 25 08 0 1,500 A 1,500
03 A2 6,000 8,000 A2,000
OSXRA &5 L MU M2Z 2,000 4,000 £2,000
—ASHI(H42, WS, FHAT S)(0a
) ZF 2,000,008 2,000 4,000 £2,000
203 Y2 =Xt 7,290 8,100 ~810
R E RS 7,290 8,100 ~810
OSK % OIRRA P2 ZT(HAEZ)
2™ 7,290,008 7,290 8,100 ~810
301 YA 0 3,080 ~3,080
09 BAAIHI 2 &2 0 3,080 £3,080
OSK % JIPRX BS48 21240 OlH (28
o A2 23 o 0 1,080 A1,080
OSXRX BAT AA L OB HB(22Y
A 23 08 0 2,000 A2,000
SRS (AMEIS)(EHTXR) 100,000 170,000 AT70,000
402 QIR TH2 0| & 100,000 170,000 AT70,000
02 SI2H A2 AL 2 X (01 & TR ) 100,000 170,000 A70,000
OEXIIY HEE Xa 100,000 170,000 A 70,000
— (F)HIOIZOLE (B X2 % 3,000 & )(
T Art) 23 100,000,0008 100,000 170,000 A70,000
(S)ARMAHI AL RO TR = 0 1,000,000 1,000,000
402 QIFX =01 F 0 1,000,000 1,000,000
02 QIR 2A 2R (01 M) 0 1,000,000 1,000,000
OSXII IHES Xa 0 1,000,000 1,000,000
— 5% ¥ 2XE XL BE JletAE &3
bl X 2y 08 0 1,000,000 1,000,000
(NS NLA A (SBFEBEAXEXY) 0 600,000 600,000
py 0 600,000 £600,000
401 A& H L 20l 0 600,000 600,000
Py 0 600,000 £600,000
01 A&l 0 596,220 596,220
OYFs SEXE NYTE 8% JF 08 0 596,220 596,220
X 0 596,220 596,220
03 A& 2T HI 0 3,780 £3,780
OYFs SHXE NYEE =F  FF 08 0 3,780 ~3,780
py 0 3,780 £3,780
TTANYEN 6,452 13,000 16,548
ZBIIBKRA 6,452 13,000 16,548
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SN EXE A
Ha: BHSAAU(SXHAA)OIEH/IIE)
el Il

SH-HH . BAIH) - ABAMY - BES 0 aF p[EsL HRE2
Jl= &l 77,772 86,280 A 8,508
Jl=dl 77,772 86,280 A 8,508
201 Let24d] 17,982 19,980 A 1,998
01 At 22/l 17,982 19,980 A 1,998
O=AEX 2LHI(0AE)
& 2,212,000& 2,212 2,700 A 488
OS2 0HAHI (0l AHE 2) 2& 6,170,000& 6,170 6,480 A 310
OL7L =dul(uaEY) 6,900 8,100 A 1,200
—=2AI EU Z & 800,000& 800 1,000 A 200
—ZEHI(=Y) EY 2 & 3,000,000 3,000 4,000 A 1,000
202 044l 55,890 62,100 26,210
01 SLHOYI 55,890 62,100 26,210
OFXNdetA AR2FX Ol (ol &2 55,890 62,100 N6,210
— 2o Yl Z & 39,000,000 39,000 43,200 A 4,200
— 220yl 2 & 16,890,000& 16,890 18,900 A2,010
203 ¥ S =&l 2,700 3,000 A 300
04 FANSEHE=LH| 2,700 3,000 A 300
LV ELEESTICIEED
d& 2,700,000& 2,700 3,000 A 300
HWRES(ENHSA)(ZELX SN L /A EI) 2,015,249 0 2,015,249
EdXE 2,015,249 0 2,015,249
EXdXE 2,015,249 0 2,015,249
802 Btet= DI Et 2,015,249 0 2,015,249
02 Al - EHIEZSEHEZ 2,015,249 0 2,015,249
020169 & 4,593 0 4,593
— LA EX D25 FHIS A
4,485,730 * 14l 4,486 0 4,486
— UBAMATR JI2S HUISAHOIAL)
106,980& * 14! 107 0 107
020169 & 2,010,653 0 2,010,653
— 58 % 2/XE =40l ME JIEtAlE &3
gl XI& 2,000,000,000& * 14! 2,000,000 0 2,000,000
— S8 % 2/XE 40l mE JIEtAlE &3
bl XI& (0l XtH) 10,653,000& 14 10,653 0 10,653
020169 & 3 0 3
— ICT/SWS & SHAXA EX3(01XH)
2,000 » 14 3 0 3




